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COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

Cobertura - Armadura negativa secundaria
     50A   1     6.3   617     115   70955
     50A   2     6.3    26  --VAR-    3796
     50A   3     6.3    16  --VAR-    2112

Cobertura - Armadura positiva secundaria
     50A   1      10   125     467   58375
     50A   2       8    40     467   18680
     50A   3      10    17  --VAR-    2380
     50A   4      10    11  --VAR-    1485
     50A   5    12.5    42     467   19614
     50A   6     6.3    25     467   11675

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
    885      217    6.3     50A
    187       74      8     50A
    622      384     10     50A
    196      189   12.5     50A

Peso Total        50A =      864 kgf


